Bid Schedule - Base

Project No.: RRP-CRK 10(1)

Project Name: CROSS CREEKS NATIONAL WILDLIFE REFUGE

State: TN Opened at: Sterling, VA
County: STEWART By: S. Anderson
DOVER, TENNESSEE Date: 08/07/2009

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Shirley Anderson

Title: Contract Specialist Date: 08/07/2009

Contract Awarded to: Herring Construction Company, Inc. Date: 08/27/2009

Contractor	Bid Amount Re	sponsive
Herring Construction Co, Inc. 1215 State Road 373 North Stre Eddyville, KY 42038	860,085.00	
Claunch Construction Company 252 TN Highway 140 East Puryear, TN 38251	1,174,590.50	
Delta Contracting Company 118 Hadley Drive Humbolot, TN 38343	1,773,600.00	
Engineer's Estimate	1,000,000.00	

Date: 08/07/09

Bid Schedule - Base

Project No.: RRP-CRK 10(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Herri	ng Construction C	Co, Inc.	ALL	40,000.00	40,000.00
Claur	nch Construction (Company		125,000.00	125,000.00
Delta	Contracting Com	pany		230,000.00	230,000.00
ENG	INEER'S ESTIMA	ATE		85,000.00	85,000.00
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
Herri	ng Construction C	Co, Inc.	ALL	75,000.00	75,000.00
Claur	nch Construction (Company		75,000.00	75,000.00
Delta	Contracting Com	pany		55,000.00	55,000.00
ENG	INEER'S ESTIMA	ATE		42,500.00	42,500.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Herri	ng Construction C	Co, Inc.	ALL	50,000.00	50,000.00
Claur	nch Construction (Company		35,000.00	35,000.00
Delta	Contracting Com	pany		50,000.00	50,000.00
ENG	INEER'S ESTIMA	ATE		21,990.00	21,990.00
15705-0100	LNFT	SOIL EROSION CONT	ROL, SILT FENCE		
Herri	ng Construction C	Co, Inc.	3,800	4.50	17,100.00
Claur	nch Construction (Company		6.50	24,700.00
Delta	Contracting Com	pany		5.00	19,000.00
ENG	INEER'S ESTIMA	ATE		5.50	20,900.00
15706-1600	EACH	SOIL EROSION CONT	ROL, STABILIZED CO	ONSTRUCTION ENTR	ANCE
Herri	ng Construction C	Co, Inc.	1	2,500.00	2,500.00
Claur	nch Construction (Company		6,500.00	6,500.00
Delta	Contracting Com	pany		5,000.00	5,000.00
ENG	INEER'S ESTIMA	ATE		3,000.00	3,000.00
20101-0000	ACRE	CLEARING AND GRU	BBING		
Herri	ng Construction C	Co, Inc.	3.8	1,200.00	4,560.00
	nch Construction (6,500.00	24,700.00
Delta	Contracting Com	pany		4,500.00	17,100.00
ENG	INEER'S ESTIMA	ATE		12,000.00	45,600.00
20301-2400	EACH	REMOVAL OF SIGN			
Herri	ng Construction C	Co, Inc.	6	150.00	900.00
	nch Construction (260.00	1,560.00
	Contracting Com			650.00	3,900.00
	INEER'S ESTIMA			160.00	960.00

Date: 08/07/09

Bid Schedule - Base

Project No.: RRP-CRK 10(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20302-2100	LNFT	REMOVAL OF PIPE C	ULVERT		
Herri	ng Construction Co	, Inc.	600	10.00	6,000.00
	nch Construction Co			13.00	7,800.00
Delta	Contracting Comp	any		35.00	21,000.00
ENG	INEER'S ESTIMA	ГЕ		20.00	12,000.00
20303-0300	SQYD	REMOVAL OF CONC	RETE		
Herri	ng Construction Co	, Inc.	15	20.00	300.00
	nch Construction Co			260.00	3,900.00
Delta	Contracting Comp	any		125.00	1,875.00
ENG	INEER'S ESTIMA	ГЕ		240.00	3,600.00
20303-1400	SQYD	REMOVAL OF PAVEI) WATERWAY, CONCR	RETE	
Herri	ng Construction Co	, Inc.	15	20.00	300.00
Clau	nch Construction Co	ompany		260.00	3,900.00
Delta	Contracting Comp	any		125.00	1,875.00
ENG	INEER'S ESTIMA	ГЕ		20.00	300.00
20402-0000	CUYD	SUBEXCAVATION			
Herri	ng Construction Co	, Inc.	200	14.00	2,800.00
	nch Construction Co			15.60	3,120.00
Delta	Contracting Comp	any		90.00	18,000.00
ENG	INEER'S ESTIMA	ΓΕ		30.00	6,000.00
20420-0000	CUYD	EMBANKMENT CON	STRUCTION		
Herri	ng Construction Co	, Inc.	2,000	15.00	30,000.00
Clauı	nch Construction Co	ompany		16.25	32,500.00
Delta	Contracting Comp	any		45.00	90,000.00
ENG	INEER'S ESTIMA	ГЕ		32.00	64,000.00
20701-1100	SQYD	EARTHWORK GEOTE	EXTILE, TYPE III-B		
Herri	ng Construction Co	, Inc.	100	3.00	300.00
Clau	nch Construction Co	ompany		5.00	500.00
Delta	Contracting Comp	any		6.50	650.00
ENG	INEER'S ESTIMA	ГЕ		6.50	650.00
25101-2000	CUYD	PLACED RIPRAP, CLA	ASS 2		
Herri	ng Construction Co	, Inc.	160	51.00	8,160.00
	nch Construction Co			92.00	14,720.00
	Contracting Comp	• •		140.00	22,400.00
	INEER'S ESTIMA	•		80.00	12,800.00

Page 3

TABULATION OF BIDS

Date: 08/07/09

Bid Schedule - Base

Project No.: RRP-CRK 10(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
25101-4000	CUYD	PLACED RIPRAP, CLA	ASS 4		
Hei	ring Construction C	o, Inc.	50	53.00	2,650.00
	unch Construction C			110.00	5,500.00
Del	ta Contracting Com	pany		160.00	8,000.00
EN	GINEER'S ESTIMA	ATE		150.00	7,500.00
30101-4000	TON	AGGREGATE BASE G	RADING C OR D		
Hei	ring Construction C	o, Inc.	11,600	20.50	237,800.00
Cla	unch Construction C	Company		28.40	329,440.00
Del	ta Contracting Com	pany		30.00	348,000.00
EN	GINEER'S ESTIMA	ATE		30.00	348,000.00
30301-6000	STA	ROADWAY RECOND	TIONING		
Hei	ring Construction C	o, Inc.	165.00	533.00	87,945.00
Cla	unch Construction C	Company		650.00	107,250.00
Del	ta Contracting Com	pany		1,900.00	313,500.00
EN	GINEER'S ESTIM <i>A</i>	ATE		250.00	41,250.00
40201-0700	TON	HOT ASPHALT CONC	RETE PAVEMENT, MA	ARSHALL TEST, CL	ASS A,
Her	ring Construction C	o, Inc.	800	86.00	68,800.00
	unch Construction C			110.00	88,000.00
Del	ta Contracting Com	pany		150.00	120,000.00
EN	GINEER'S ESTIMA	ATE		100.00	80,000.00
40201-1300	TON	HOT ASPHALT CONC	RETE PAVEMENT, MA	ARSHALL TEST, CL	ASS A,
Hei	ring Construction C	o, Inc.	500	89.00	44,500.00
	unch Construction C			115.00	57,500.00
	ta Contracting Com	= -		175.00	87,500.00
EN	GINEER'S ESTIMA	ATE		75.00	37,500.00
60201-0600	LNFT	18-INCH PIPE CULVE	RT		
Hei	ring Construction C	o, Inc.	90	90.00	8,100.00
	unch Construction C			56.25	5,062.50
	ta Contracting Com			150.00	13,500.00
	GINEER'S ESTIMA	-		60.00	5,400.00
60201-0800	LNFT	24-INCH PIPE CULVE	RT		
Hei	ring Construction C		170	125.00	21,250.00
	unch Construction C			60.00	10,200.00
Cla	unen construction c				· ·
	ta Contracting Com	± •		175.00	29,750.00

Date: 08/07/09

Bid Schedule - Base

Project No.: RRP-CRK 10(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
60201-1000	LNFT	36-INCH PIPE CULVE	RT		
Herri	ng Construction Co	o, Inc.	230	165.00	37,950.00
Claun	ch Construction C	Company		96.00	22,080.00
Delta	Contracting Comp	pany		225.00	51,750.00
ENG	NEER'S ESTIMA	ATE		120.00	27,600.00
60210-0600	EACH	END SECTION FOR 18	3-INCH PIPE CULVERT	[
Herri	ng Construction Co	o, Inc.	4	1,000.00	4,000.00
Claun	ch Construction C	Company		500.00	2,000.00
Delta	Contracting Comp	pany		700.00	2,800.00
ENG	NEER'S ESTIMA	ATE		700.00	2,800.00
60210-0800	EACH	END SECTION FOR 24	4-INCH PIPE CULVERT		
Herri	ng Construction Co	o, Inc.	1	1,200.00	1,200.00
Claun	ch Construction C	Company		1,000.00	1,000.00
Delta	Contracting Comp	pany		800.00	800.00
ENG	NEER'S ESTIMA	ATE		1,200.00	1,200.00
60220-1750	LNFT	8 FEET SPAN, 3 FEET CULVERT	RISE PRECAST REINF	ORCED CONCRETE	BOX
Herri	ng Construction Co	o, Inc.	30	600.00	18,000.00
	ch Construction C			2,200.00	66,000.00
	Contracting Comp	• •		2,200.00	66,000.00
	NEER'S ESTIMA	. •		700.00	21,000.00
60403-1400	EACH	INLET, TYPE 5B			
Herri	ng Construction Co	o, Inc.	1	4,000.00	4,000.00
Claun	ch Construction C	Company		6,500.00	6,500.00
Delta	Contracting Comp	pany		7,000.00	7,000.00
ENG	NEER'S ESTIMA	ATE		3,000.00	3,000.00
60703-0000	LNFT	CLEANING CULVERT	TS IN PLACE		
Herri	ng Construction Co	o, Inc.	42	100.00	4,200.00
	ch Construction C			130.00	5,460.00
Delta	Contracting Comp	pany		100.00	4,200.00
ENG	NEER'S ESTIMA	ATE		30.00	1,260.00
60915-1000	EACH	WHEELSTOP, CONCR	RETE		
Herri	ng Construction Co	o, Inc.	40	100.00	4,000.00
	ch Construction C			150.00	6,000.00
	Contracting Comp			200.00	8,000.00
Dena					

Page 5

TABULATION OF BIDS

Date: 08/07/09

Bid Schedule - Base

Project No.: RRP-CRK 10(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
62501-0000	ACRE	TURF ESTABLISHME	NT		_
Herri	ng Construction Co	o, Inc.	3.8	1,400.00	5,320.00
Clau	nch Construction C	ompany		260.00	988.00
Delta	Contracting Comp	any		5,000.00	19,000.00
ENG	INEER'S ESTIMA	TE		4,200.00	15,960.00
62901-1200	SQYD	ROLLED EROSION CO	ONTROL PRODUCT, T	YPE 5.A	
Herri	ng Construction Co	o, Inc.	1,000	2.00	2,000.00
Clau	nch Construction C	ompany		6.40	6,400.00
Delta	Contracting Comp	any		8.00	8,000.00
ENG	INEER'S ESTIMA	TE		7.00	7,000.00
63304-0900	SQFT	SIGNS, ALUMINUM P	ANELS, TYPE 3 SHEET	ΓING	
Herri	ng Construction Co	o, Inc.	60	100.00	6,000.00
Clau	nch Construction C	ompany		46.00	2,760.00
Delta	Contracting Comp	any		150.00	9,000.00
ENG	INEER'S ESTIMA	TE		31.00	1,860.00
63309-0200	EACH	DELINEATOR, TYPE	2		
Herri	ng Construction Co	o, Inc.	20	75.00	1,500.00
Clau	nch Construction C	ompany		70.00	1,400.00
Delta	Contracting Comp	any		200.00	4,000.00
ENG	INEER'S ESTIMA	TE		70.00	1,400.00
63401-0300	LNFT	PAVEMENT MARKIN	GS, TYPE B, SOLID		
Herri	ng Construction Co	o, Inc.	300	7.50	2,250.00
Clau	nch Construction C	ompany		15.00	4,500.00
Delta	Contracting Comp	any		10.00	3,000.00
ENG	INEER'S ESTIMA	TE		3.30	990.00
63502-0600	EACH	TEMPORARY TRAFF	C CONTROL, BARRIC	ADE TYPE 3	
Herri	ng Construction Co	o, Inc.	2	600.00	1,200.00
Clau	nch Construction C	ompany		700.00	1,400.00
Delta	Contracting Comp	any		500.00	1,000.00
ENG	INEER'S ESTIMA	TE		500.00	1,000.00
63502-1000	EACH	TEMPORARY TRAFF	C CONTROL, CONE, T	YPE 36-INCH	
Herri	ng Construction Co	o, Inc.	20	200.00	4,000.00
	nch Construction C			35.00	700.00
	Contracting Comp			40.00	800.00
	INEER'S ESTIMA	-		40.00	800.00

Page 6

TABULATION OF BIDS

Date: 08/07/09

Bid Schedule - Base

Project No.: RRP-CRK 10(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63504-1000	SQFT	TEMPORARY TRAFF	FIC CONTROL, CONST	RUCTION SIGN	
Herr	ring Construction C	Co, Inc.	210	10.00	2,100.00
Clau	nch Construction (Company		35.00	7,350.00
Delt	a Contracting Com	pany		20.00	4,200.00
ENC	GINEER'S ESTIMA	ATE		20.00	4,200.00
63708-0000	MO	CELLULAR PHONE S	SERVICE		
Herr	ring Construction C	Co, Inc.	6	250.00	1,500.00
Clau	nch Construction (Company		300.00	1,800.00
Delt	a Contracting Com	pany		500.00	3,000.00
ENC	GINEER'S ESTIMA	ATE		180.00	1,080.00
64502-0000	EACH	LOCATE UTILITIES			
Herr	ring Construction C	Co, Inc.	8	300.00	2,400.00
	nch Construction (300.00	2,400.00
	a Contracting Com			2,500.00	20,000.00
ENC	GINEER'S ESTIMA	ATE		1,200.00	9,600.00
64703-1550	EACH	MITIGATION, SLIDE	GATE (FLAP GATE)		
Herr	ring Construction C	Co, Inc.	1	4,500.00	4,500.00
Clau	nch Construction (Company		5,500.00	5,500.00
Delt	a Contracting Com	pany		25,000.00	25,000.00
ENC	GINEER'S ESTIMA	ATE		8,000.00	8,000.00
64703-1600	EACH	MITIGATION, SCREV	W GATE		
Herr	ring Construction C	Co, Inc.	1	7,500.00	7,500.00
Clau	nch Construction (Company		8,500.00	8,500.00
Delt	a Contracting Com	pany		35,000.00	35,000.00
ENC	GINEER'S ESTIMA	ATE		18,000.00	18,000.00
64703-1650	EACH	MITIGATION, FLASE	I BOARD RISER		
Herr	ring Construction C	Co, Inc.	3	12,500.00	37,500.00
Clau	nch Construction (Company		20,000.00	60,000.00
Delt	a Contracting Com	pany		15,000.00	45,000.00
ENC	GINEER'S ESTIMA	ATE		5,000.00	15,000.00

Bid Schedule - Base

Project No.: RRP-CRK 10(1)

Project Name: CROSS CREEKS NATIONAL WILDLIFE REFUGE

BID TOTAL CHECK PASS

Date: 08/07/09

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Herring Construction Co, Inc.	860,085.00	860,085.00	
Claunch Construction Company	1,174,590.50	1,174,590.50	
Delta Contracting Company	1,773,600.00	1,773,600.00	

The apparent low bidder is 14 % below the engineer's estimate.

Bid Schedule - Base

Project No.: RRP-CRK 10(1)

Project Name: CROSS CREEKS NATIONAL WILDLIFE REFUGE

BID ITEM CHECK PASS

Date: 08/07/09

Bidder	Item No.	Bidder's Extension	Computed Extension
		2.1141101011	2.1141101011

No extension errors in this Schedule.